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Foute the hydrograph in unit 1 through reach & to unit
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¥ Rasin F

Calculate the hydrograph for basin no. O to unit 1
area= .11 =g. miles toc= .33 hours cn= 69
total volumes= 9.78545% acre-—-ft
peak flow = 13E9.7829 cfs

¥ Taotal below F

Add the hvdrographs in units 1 and & to wunait 4

total volume=
peak flow =

¥ Total D.F. #1

Add the hvdrooraphs in units 20 and 4 to wmit 1

total volums= 20,05%101 acre-ft
Flow = 1127.%94 cf

i

3H

pres e b

¥ Fowte to below J1

Route the hyvdrograph in unit 1 through reach 2 teo wunit

total volumss= FO.080%9 acre—ft
peak Tlow = 1107.437 cfs

Calculate the hvdrograph for b

ol 0 to owunit 4

o e

area= .25 =g. miles to= JEE hours on

&7

total voluwnes= Z22.24017 acre—-ft
peak flow = Z17.&204 cfs

¥ Combineg to below J

Gdd the hydrogrephs in unite 1 and 20 to wunit 2

total volume= 112.2%912 acre—-ft
peak T1ow = 1Z&60,0508 ofs

al.




k.
Y
il
n
=
o]
—t

Calculate the hydrograph for basin no. O to unit 1
area= .19 sg. miles te= .14 hours cn= 70
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total volume= 128.38BI8 acre-—-ft
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Add the hydrographs in units 1 and 2 to umit 7
total volume= 15%0,B057 acre—ft
peak flow = 1457.948 cfs
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peak flow = 580.,.0282 cfs
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Route the hvdrograph in unit 3 through reach 7 to unit

total volume= 58.6788 acre—ft
peak flow = 737.1691 cfs
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2 g cfs

Flow =

¥ Rowute to DFOF
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Add the hydrographs in unite 1 and @ to wunit 3

total volume= BZ.,&64645%8 acre—Tft
peak Tlow = 811.Z804 cfe
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¥ Foute to DF BA

Foute the hydrograph in unit é& through reach 9 teo unit 7

total volume= 2TFZ.4718 acre—ft
peak flow = FR6H4.429 cfs
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total volume= 5.32B&Z1 acre—ft
peak flow = Q4 _ 22789 cfs

¥ Total at DF &
Add the hydrographz in units 1 and 7 te unit 6
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total volums= 7. 37
peak Tlow = 42,P4

m

&2 acre~ft

-
& cfs
¥ Routes to DF 10

Foute the hydrograph in unit 3 through reach 11 to unit

total volume= 7

FL.28E74 acre-ft
peak Tlow = 139.&6861 ofs

¥ Eazin M1l



Calculate the hydrograph for basin no. O to unit &

area= .05% sq. miles tec= W13 hours

total volume= 4.437841 acre—ft
peak flow = 84.9045%6 cfs

¥ EBasin MZ

-

cn=

Calculate the hydrograph for basin no. O to unit 3

L]

area= .17 sg. miles te= .22 hours

total volums=
pealk flow = IRBT.6E54 ofs

Add the hvdrographs in wunits 2 and 3 to unit

* Total DF 10

fidd the hydrographs in units 1 and 40 to wunit

¥ FRoute DF 10 to DF 114

Foute the hydrooraph in unit 2 throuwgh reach

Calculate the hvdrograph for basin no. O to

arga= .27 =0. miles to= 23 hours

total volumes= Z23.9%647% acre—Tt
peak flow = T71.789 cfs

¥ Total DF 114

Add the hydrographs in units 1 and 2 to unit

.

total volume=s 47.24324 acre-Tft
peak Tlow = 7E0.,1814 cfs=

¥ fFoute DF 114 to DF 11

cn=

~y

an

Tt

unit 2
cn=

&9

&9

wunit 1

L9
L



-

Foute the hydrograph in unit 3 through reach 11 to unit 1

total volume= 47.26325 acre—ft
peak flow = 7320.181 cfs

¥ BRasin 401

Calculate the hydrograph for basin no. O to wunit 2

area= .0% sg. miles tc= .11 hours cn= &9
total volumes= Z.455247 acre~-ft
peak flow = 32.345153 cfs

¥ Total DF 11

Add the hydregraphs in units 1 and 2 to unit =

total volume= 4%9.9185% acre—Tt
peal

-

T1low = 73ELH.9535 ofs

¥ Total DFPF 124

Pz

Calculate the hvdrograph for basim no. © to unit 1

areas= ,08 sg. miles to= 21 hours cn= &Y
total volume= 7.104%72 acre—-Tt
peak Tlow = 115.442 ofs

p 3 Route to IF 13

Foute the hydrograph in unit 1 through reach 11 to unit 2

total volume= 7
1

Y 1045974 acre—ft
peak Tlow = 3

15,3007 ofs
¥ BRaszin F1

Calculate the hvdrograph for baszin no. O to wunit 1

area= .03 sg. miles teo= 08 hours cn= &%
total volumes= Z.5%705% acre~Tft
peak flow = 34.88447 ofs

¥ Total LF 12



Add the hyvdrographs in unitse 1 and 2 to unit 4
total volume= 9.,.702023% acre-ft
pealk flow = 13&.0406 cfs

¥ Route DF 12 to DR 11

Route the hydrograph in unit 4 through reach 13 to unit 1
total volume= 9.702024 acre—-ft
pealk flow = 125.,.5731 cfs

¥ Total below DF 11

Add the hydrographs in units 1 and 2 te unit 2

valumnes B9 ,672051 acre-ft

T 1 e = E&H4.4777 ofs

Foute the hvdrograph in reach 12 to wumit 1

total volumes

T 1o =

Caloculate the hvdrograph for basin no. O to unit 2
area= .1 =sg. miles to= L2353 hours crn= 74

volumes= 10,89404 acre—Tt
T 1o = 174,797 cFs

tortal
P sk

¥ Total DF 132
Add the hydrographs in units 1 and Z to unit =
total volume= 70.51447 acre—ft

peak Tlow = G046.4457 cfe

Add the hydrographz in units 2 and 7 to wunit 1

]

TaEL T

total volume= T17.2573 acre—-ft
peak flow = 245,474 cfs

X Foute to DF 14

Route the hvdrograph in unit 1 through reach 18 to umit 2



total volume=

F17.2573 acre—ft
peak flow =

Z4731.08% cfs

¥ BRasin V

Calculate the hydrograph for basin no. © to unit 1
area= .19 sgq. miles

te= WE3 hours cn= &%
total volume= 1&£.91&673

. acre—ft
peak flow = 2E4.8%1l4 cfs

¥ Total DF 14 (RBasin Total)

Add the hydrographs in wunits 1 and 2 to unit

acre-Tt
o f

peak flow = 2458, 544

total volume= 3Z34,1741
oy 5 = P

-,

L -

1
11

End of computation 101030






08-07-1987 1%:18:51

Input file name: a:&63BEhist.dat
MOMUMENT BRANCH MASTER DRAINAGE STUDY — FRESENT CONDITIONS
100-Year Z2-Hour Steorm :Froject No 46%82

Time increment .02 hrs

-~

Storm pattern no. =
time increment= 0833 hrs

QL0000 0, 0087 007446 0.0744 0,.143%6

0.2647 0.4810 O.6021 06713 O.7249

0.7682 0. goze 0O.8374 GL.B720 G.8897%

O.F0Os4 0.2170 092773 QL9377 0.9481

0,.5585 0.74689 0.9794 0.98946 1.G000

Taotal rain depth 2 inches
¥  Input date (El. @, A) for X-Sect 1
Feach no. 1

Elew G Area
Tt cfs sgft

LG0T, OO 0,0 G0
HF0L 00 171.0 27 .0
S FOE . Q0 G71.0 &0 .0
RO DD 1i82.0 9.0

¥ Input date (E1, O, &A) for ¥-8Sect Z

Reach no. 2

Elev G area

fi cf= sqft

LEED, GO0 0,0 0,0

&HE86 .00 10.0 2.0

&HER7 .00 24,0 4.0

&888 .00 &7 L0 12.0

HEET .00 2ERH.0 SE L0

&E8F0, 00 A&d LD &4 .0

¥ Input data (El1, O. A) for X-Sect =

Reach no. 3
Elev G Area
Tt cfs aqft

&EBEO .00 .0 0.0
&221.00 411.90 &4, 0
&8EE 123800 T 0
&84 Z2701.0 216.0

O,
53]
+
b

¥ Input (El, G, A) for X-Sect 4



Reach no.

¥ Input

Reach no.

¥ Input

Feach no.

* Input

Reach no.

¥  Input

Reach no.

a
Elev
ft
&HT770,00

&7 70,80
&771.00

6772.00
&7T7E.00
&774 .00

data (El.

)
Elev
ft

&ETB.L.O0
HETI .00
HEBC, OO0
&6EE1 .00

data

&EF19 .

00

~l

Elev
ft
HEBEEH G0
HBET7 00
SHETEE OO0
6839,
6840,
6841,

0
O
Q0

data (E1., O,

&E81 .00
HLBE 00
&6EE .00
£484 .00

By

&
cfs
0,0

446.0
150,0
4946.0

1020.0
1728.0

A)

o
cfs

O
G
Q

0.
7i.
217
524,

TR
Aorael o e L

238300

8y for

&)
cfs
GG

FIELO

71%.0
1510.0

for

Area
sqft

O.0
12.0
5.0

P RS

54,0
g89.0
128.0

o

X-Sect

Area
sft
0.0
AL D
132,00

wtalom b

F206.C

Areas
=ft
SIS
4.0
14.0C
54 O
120,00

fGrea
sgft
£ . ()
18.
34.0
0.
2.0

D050

~Sect B

fArea
sqft
0.0
".‘:-_H
7E.C
131.0



¥ Input

Reach no.

¥  Input

FReach no.

¥ Inmput

Reach no.

¥ Input

Feach no.

data (El1, @,

C?
Elev
ft
6000
L6050
6LZ1 .00
&6E1. 50
HLEIEZ .00
HLHE2, 50
bbT

335.00

data (E1, O,

oo -

o o e

~
r

o
o

(E

data

1z
Elev
ft

&BHE. 0D
H5RE, 30
&ED5HF, 00
EBE0 .00
EDAHT DD
HEER OO0
HQ&ETE OO
&BEG .00
&D65 .00
LG54 .00
&BET .00

data (El, @,

13
Elev
ft
SEHD0 O
HEDL OG0
&&DZ .00

EEOL .00
HE0H, 00

Ay for

Q@
cfs
QL0

Q4.0
EE2.0
25,0
128%.0
2048.0

TOZ0 .0

a)ry for

Ct
cfs
0,0

16£.0
g5.0

AT O

ARG
PAST SN ¢

1:

T N

O]

15,
27
14£5.0
419.0
28.0
1184.0
1809.0
2420.0
2748.0

- -
B5EL .0

)

o~
DO

~) for

cfs
0,0
0,0
105,00
2731.0
416.0
&&E8.0

X-Sect 9

Area
sqft

Q.0
28.0
&7 .0
116.0
177.0
248.0

EIEO.0

X-Sect 11

firea
egft
GO
4.0
2.0
2EL0

&4 .0

]

.“,
|
n
il
n
rt
|

Area
sgfTt
0.0
D.0
2.0
24,0
48.0
80,0
124.0
21300
21100
412.0
S515.0

X—Sect 13

Area
saqft

Q.0

4.0
10.0
18.0
Z8.0

40,0



¥ Basin Bl

Calculate the hydrograph for basin no. O to unit 1
area= ,Z sg. miles tc= .28 hours cn= &%
total volume= 7.11%707 acre—-ft

peak flow = 10Z,.08635 cfs

¥ Route Bl thru i

~

Route the hydrograph in unit 1 through reach 1 to wunit 2

total volume= 7.11970% acre—Tft

ez

peak Tlow = 101.3581 cfs

Calculate e hvdrograph u O to unmit 1
area= ,0% 7. miles te= o132 hours cn= &9

-

t (o) @ ]

pezak T low = L

WL ume

¥ Total bhelow BIZ

Add the hyvdrooraphs in units 1 and 2 to uamit 2

total wvolumes

peak T1ow =

¥ Route to conflusnce in (B2

Foute the hvdrograph in unit 2 through reach 1 to wnit 4
total wvolume= 10,2241 acre-~ft
peak T1ow = 1328.804% cfs

¥ Rasin A & G1

Calculate the hydrograph for basin no. O to unit 1
area= .2 s5g. miles te= L Z2E hours cn= &92.9

total volume= 7.355782 acre-—ft
peak flow = 114,305 cfs

¥ Frainmt hvdrograph for basin AGL

¥ Foute to confluence in G572



FRoute the hydrograph in unit 1 through reach 1 to unit =
total volume= 7.,.355782 acre—ft
peak flow = 113.6011 cfs
¥ Combine at confluence in G2
Add the hydreographs in units & and 4 to unit 1
total volume= 17.67988 acre—ft
peak flow = Z241.5647 cfs

¥ Route thru GZ

Foute the hydrograph in wunit 1 through reach 1 to anit 2

total volumes= 17.67%827 acre—ft

peal flow = 241.3018 ofs

¥ Basin B2

Caloculate the hydrograph for basin no. O to umit 1
area= ,Z sa. milss to= 27 hours cn= &9

total volume= 7.120408 acre—Tt

peak flow = 102.684 ofs

* Total bhelow G2

Add the hydreographs in units 1 and 2 to wumit 2

total volumes
peak flow =

¥ Basin E

Calculate the hydrograph for basin no. O fto unit 1

-~ e

area= .2 =s0. miles tc= L35 hours cn= 70
total veolume= 7.594%94& acre—-ft
pealk flow = 104.53218 cfs

¥ Foute thru F

Route the hydrograph in unit 1 through reach 2 to unit 2

total volume= 7.59494 acre—ft
peak flow = 104,109 cfs



¥ Basin F

Calculate the hydrograph for basin no. 0O to

unit 1
area= .11 sqg. miles tc= .33 hours cn= 69
total volume= 2.9216435 acre-ft
peak flow = BI.1525 cfs

¥ Total below F

Add the hydrographs in units 1 and 2 to unit 4

total volume= 11.51138 acre—-ft
peak flow = 188.,1807 cfs

¥ Total D.F. #1

add the hydrographs in units 2 and 4

to unit 1

total volumes= 3&.21165

aczre—ft
peabk flow = 482,887 &

cte
X Route to below J1

Route the hyvdrograph in unit 1 throuvgh reach 2 fto unit 2
total volumes= Z45.311464 acre—ft

peak Flow = 481.7141 cfs

* Basimn J

Calculate the hydrograph

for basin no. O
area= .25 sg. miles te= W33

<25 hours crn= &9

to unit 1

total volume:s

82.700984 acre—Tft
peak  flow =

120.8011 cfs

¥ Combine to below J

fAdd the hydrogrephs in units 1 and 2  to unit

total volumes= 45,.3712484

acre—ft
peak Tlow =

584.,.7557 cfs

X Basin I

T e T pe bt 1 = o +lemn B

v e b ek et tme ek geem Lok e s s



area= .13 sg. miles tc= .14 hours cn= 70
total volume= §5.&F&128 acre—ft
peak flow = 102.71%94 cfs

¥ Route to below J

Route the hydrograph in unit 1 through reach 2 to unit 2

total volume= 5.462612% acre—ft
peak flow = 101.39%7 cfs

¥ Combine I ta total below J

d

Add the hvdrographs in units 2 and to unit 4

total volume= 50,.%02877 acre—ft

peak flow = &44,1087 ofs

the hydrograph for bazin no. O to wunit 1
LOEE sa. miles to= LO7 hours o= A7 .b

t

W ] timers
T1low =

-

Route the hydrograph in unit 1 through reach 23 to unit

total volume= 1.0748&475 acre—ft
pealk Tlow = 20 .95456 ofs

b 3 Taotal at DF 2

urmit =

o

Add the hydrographs in units 3 and 4t

total veolume= 51.%4%41 acre-ft
5 ZOTE

pealk flow = &04.3207E cfe
¥ FRoute to DF Z

Foute the hydrograph in wunit 2 through reach 4 to unit 1

total volume= 51.%945%3%% acre—ft

L

peask Flow = &LA. 451 ofs



Calculate the hydrograph for basin no. O to unit 2

area= .0& sg. miles tc= .18 hours
total volume= Z2.17346119 acre—ft
peak flow = 324.84&B876 cfs

¥ Combine N2 to DF =

Add the hydrographs in units 1 and £ to unit
total volume= 54.081532 acre—ft

peak flow = &75.1747 cfs

¥ Basin N1

cn= &9

Calculate ths hydrograph for basin no. O to unit 1

area= .11 sgq. miles te= .27 hours

total volume= Z.F1&62E5% acre—Tt
peak flow = B&H, 451377 ofs

¥ Combine NI to DF 3

fidd the hydrographs in units 1 and 2 to unit
total volumes L7 .9%97735
F1& . HET

peak flow =

¥ Route total DF 3 to DF 7 - North Branch

[
o3

Foute the hydrograpbh in wunit 2 through reach

total volume= 57.99775 acre—ft
peak Tlow = 714.8218 cfs

* Bagin K

cn= &9
to unit

Calculate the hydrograph for basin no. @ to unit 2

e

area= .08 sg. miles tc= .23 hours
total volume= Z.B4ROSE acre-—ft
peak flow = 47 ,2684565 cfs

¥ Total HMHorth Eranch DF 7

Add the hydrographs in units 1 and 2 to unit

total volume= 40.8458 acre-Tft

cn= &9

7



peak flow = FIEY.0269 cfs

¥ BRasin C1

Calculate the hydrograph for basin no. O to unit 1
area= ,19? sg. miles tc= .27 hours cn=
total volume= &.7&643288 acre—Tt
peak flow = Q@7.50795 cfs

¥ FRoute to DF &

Route the hvdrograph in unit 1 through reach
total volumes= &4.7468438B%9 acre—-ft
pealk flow = G&.E5556 ofs

¥ PBasin CZ

Calculate the hydrograph for basimn no. O to unit 1
area= .1 sg. miless to= 32 hours cn=
total volumes= F.5404451 acre-—-T11
peak flow = 48,55558&6 ofs

¥ Combimne CL & CZ &t DF S

fdd the hvdrographs in units 1 and 2 to unit 2
total wvolumes= 10.22485% acre-Tt
peak flow = 142,613 cf=s

¥ Basin D

Calcuwlate the hydrograph for basin no. ¢ to unit 1
area= .17 sg. miles to= 27 howrs cn=
total volumes &.0523446 acre-Tt
peak Tlow = B7.243%6 ofs=

¥ Total at DF 5O

fcdod the hydrographs in unite 1 and 3 to unit 2

total volumes= 14.37719 acre—ft
peak Tlow = DEZ.FEE cfs

¥ FRoute to DF 6/

&9

7 to unit

=i

&9



Route the hydrograph in unit 2 through reach 7 to unit
total volume= 16.3772 acre—ft
peak flow = 221.93295 cfe

X Basin H

Calculate the hydrograph for basin no. O to unit 1
area= .1 sg. miles te= JE4H hours cn= &9

total volume= IZ.,5&0E2%923 acre—ft
peak flow = BZ.19749 cfs

X FRoute H to DF &4

Foute the hydrograph in unit 1 through reach & to unit 2

total volumes
pealk flow =

¥ Combine DF 5 & H DF &4

Add the hvdrographs in units 2 and 3 to unit 1

total volune= 19,937
peak flow = Z&HE.

19 acre—T+4
T oots

*® Basin 01

Calculate the hydrograph for bagsin no. O to unit 2
area= .1 sg. miles to= .19 hours cr= &9

total volume= Z.5840144 acre—ft
[y S s T vt o fe

peak flow = A7 .223571
¥ Total at DF &aA

fAdd the hydrographs in unite 1 and 2 to umit =
total volume= 23.49764 acre—ft

peak flow = ZOR.87&1 ofs

* Foute to DF &

Foute the hydrograph in unit 3 through resch 7 to unit 2

total volume= 27.497&% acre—-ft
peak Tlow = TO7 219 ofs



¥ Basin 02

Calculate the hydrograph for basin no. O to unit 1

area= .17 sq. miles to= .25 hours cnhn= &9
total volumes= &.052122 acre—-ft
peak flow = 91.98412 cfs

¥ Total at DF &

Add the hvydrographs in unite 1 and 2 te unit 3

total volume= 29.54%73 acre—ft
peak flaw = R70.5734 cofs

¥ FRoute to DF 7

Route the hydrograph in unit 3 through reach 8 to unat

total wvolumes
peak Tlow =

|—f"—'f:'i

=)

¥ Eazin S

Caloulate the hvdrograph for basin no. ¢ to vnit

ares= .1 sg. miles to= 18 hours o= &9

total volume= Z.55019% acre—Tt
peak flow = GH.11448 cfs

o
—]
™
e
-
il
ot
o
+
o
-n
-~
f

South Branch

Add the hydrographs in units 1 and

fd

to unit =
total volume= Z35.10%9%95 acre—ft
pealk flow = Z97.445046 cfs

¥ Total at DF 7

Add the hydrographs in unite 3 and 7 to unit &

volume= R3,95574 acre-ft
Tlow = 11308.447 ofs

¥ Foute to DF 34

Route the hvdrograph in wunit & throuoh reach @ to unit



total volume= 9I.955373 acre—ft
pealk flow = 11Z24.883 cfs

¥ Basin T2

Calculate the hydrograph for basin no. © to unit 1
area= .02 sg. miles toc= .08 hours cn= &9
total volume= .7119847% acre—ft
peak flow = 14.2228% cfs

¥ Easin T3

Calculate the hydrograph for basin no. O to unit 7
area= .07 =g, miles to= .14 hours cn= &9

total volume= 2.4921127 acre—-ft
peak Tlow = 45 ,728%6 cfs

X Combine T2 & T3

fdd the hvdrographs in units 1 and 2 to wunit 3

T1ow =

¥ Total at DF BA

e

FAdd the hydrographs in units 2 and 7 to unit
total volume= 97, 18987 acre—ft
peabk Tlow = 1154.015 ofg

¥ Route to DF 2

Foute the hydrograph in wumit & through reach 9 to unit 7

total volume= 97,15%9287% acre—ft

pealk flow = 11832.202 cfe

¥ Basin Ti1

Calculate the hydrograph for basin no. O to umit 1
area= .04 9. miles to= 17 hours cn=

total volumes= F,13%75%1 acre—ft
peak flow = L5.BIP0% ofs

¥ Total at DE &



Add the hydrographs in units 1 and 7 to unit &
total volume= F9.2956 acre—ft
pealk flow = 1146&£.924 cfs
¥ Route DF B to DF 13
Route the hydrograph in unit & through reach 13 to unit 7
total volume= 92.2925&42 acre—ft
peak flow = 1166.512 cfs

¥ Basin L1

Calculate the hydrogreph for basin no. O to unit 1

area= .06 sq. miles to= .13 hours cn= 70
total volumes= Z.Z7H5Z7 acre—-ft
peak flow = 41.953%301 cfs=

* Easin LZ

~y
e

Calculate the hydrograph for basin rno. O to unit
area= ,02 sq. miles to= 08 hours cC

n= &9

total volume= (7119843 acre—Tt
peak flow = 14.3228%9 cfs

¥ Total at DF %

Add the hydrographs in units 1 and 2 to unit &
total volume= 2.990511 acre—ftt
peak Tlow = HE.6500Z ofs

¥ Route to DF 10

Route the hydrograph in unit I through reach 11 to unit 1

total volume= Z.9%0511 acre—-ft

[l g

peak flow = 33.7%400 cfs
¥ PBasin Ml
Calculate the hydrograph for basin no. O teo unit 2

area= .03 sq. miles tc= L1373 hours cn= &%

total veolume= 1.760204 acre-ft



peak flow = Z2,00733 cfs

¥ EBasin MZ

Calculate the hydrograph for basin no. O to unit

area= .13 sg. miles tc= .22 hours
total volume= 4.&28476 acre—ft

peak flow = 71.1247%9 cfs

-

Add the hydrographs in units 2 and

Lo

total volume= &.408481 acre-—-ft
peak flow = QY% 80991 cfs

¥ Total DF 10

on

to unit 4

Add the hydrographs in units 1 and 4 to unit 2

total volume= 9.7399198 acre-ft
ek T 1o = 152.91688 ofs

k3 Fowte DF 1O to OF 1164

Route the hydrograph in wunit 2 through reach 11

total volumes= F.7399197 acre-Tt
peak flow = 151.300% cfs

X Baszin 0O2

Caloculate the hydrograph for basin no. O to
area= .27 sg. miles to= W27 hours

total volume=s 9.4617192 acre—-ft
pealk flow = 14&.0%9324 cfs

¥ Total DF 114

—

Add the hydrographs in units 1 and 2 to unit

total volume= 1%.011739 acre—ft
peak flow = Z2B&.80446 cfs

¥ FRowute DF 114 to DPF 11

Route the hydrograph inm unit 2 through reach 11 to unit 1

N . ) - s e 3 3 e e -y

unit
on

T

-r

©

o~
-

69

LN

67

Lt

1

1



peak flow =

¥ Basin G1

Calculate the hydro
area= .03 sq.
total volumes=
peak flow =

¥ Total DF 11

Add the hydrographs

total volumes
peak Tlow =

* Total DF 124

£
b
A
s
ta
-

Calculate
areas=

the hydro
L08 =sq.

total volumes=
peak T low =

Route the hydrograph in unit 1 through reach 11 to unit

total
pealk

volumes=
Tlow =

¥ Bazin F1

Calculate the hvidro
area= .07 sq.

total
peak

volumes
flow £

¥ Total DF 1Z

fAdd the hydrographs
total volumes

b 1 ow =z

286.6127 cofs

to unit 2
cn=

graph for basin no. ©
miles tc= .11 hours

1.04688096 acre—~Tft
20.04271 cf=

in unite 1 and 2 to umit Z
20,0794 acre—-ft
E2R9.7ERE ofs
graph for basin no. O to unit 1

miles tc= W21 hours cr=

acre—Tt

rfe

T
oy

2.8482756 acre—-ft
44 ,720919 cfs

araph for basin no. O to wunit 1
miles to= .08 hours cn=

1.0&67974 acre—ft
2132430 ofs

in units 1 and 2 to unit 4
F.G1462172 acre~ft
cfa

69

&9

&9

o
e



¥ Foute DF 12 to DF 11

Route the hydrograph in unit 4 through reach 13 to unit 1
total volume= Z.916212 acre-ft

peak flow = BB.&B103 cfs

¥ Total below DF 11

-r

fdd the hydrographs in units 1 and = to unit =
total volume= 23.9756% acre-ft

peak Tlow = Z6E.1247 cfs

¥ Foute to DF 13

-

Foute the hydrograph in unit o through reach 13 to unit 1

# Basin U

Calculate the hydrograph for basin no. O to uriit 2

area= .1 =g. miles c= L2353 hours cn= 74
taotal volumess acre—Tt

peak flow =

¥ Total DF 13

Add the hydrographs in units 1 and X to unit =

total volumes FH.82788 acre—Tft
peak flow = 4321 .0&67 cfs

~4

Add the hydrographs in units I and to unit 1

total volume= 1Z8.1194 acre—-ft
peak flow = 1412.%952 cfs

* Foute to DF 14

Route the hydrograph in unit 1 through reach 172 to unit 2

total volume= 128.1195 acre—ft
peal flow = 1418.41 cfs



Calculate the hydrograph for basin no. O to
area= .19 sg. miles tc= .35 hours

total volume= &.7645053 acre—ft
peak flow = BY.2208%9 cfs

¥ Total DF 14 (EBasin Total)

unit 1
cnh=

Add the hydrographs in units 1 and 2 to unit =

total volume= 1324.884 acre—-ft
pealk flow = 1472.87 cfs

w T

End of computation 15:22:031

&7






Input file name: B:6IZBIZHIST.DAT
MONUMENT BRANCH MASTER DRAINAGE STUDY

10-YEAR Z4-HOUR STORM : Freoject

Time increment .1 hrs

Etorm pattern no. 1

time increment= .95 hrs

O, 0000 GL.0075
OL.0180 0L, QP00
O, 0600 3,1
O, 8000 o.BZ

1)
O L BAHO0 {

), BHBO
)L FOA0

1A

Total rain depth 2 inches

¥ Irnpul date (El., O, &) for

Reaoch mo. 1

+
-+ L
I

RIS 0,

.
lp'x
lp'l
L0 b
.
o
.
S T

¥ Imput data (El. 0, &)Y for

3
I

m
— b
w0
N
- 03
n

&HBRESL OO0 (W Y]
&EBEE .00 1,0
&8E7 .00 24,0
&888. 00 &7 .0
&E8%, 285,0
&8O, 00 Eénd 0

¥ oInput data (El, G, &) for

G
cfs
0.0

411.0

O L0080
O.0250
O, 7000
O .8E00
O.8700
0.92100
O, 9400
0. 9650
OLGHRBO
0.F%75

Area
sqft
0.0
.

4.0

e a
=Tt
. O
&4, 0

Mo 4467282

O.0075
QL0200
QL7500
0.8400
0.8850
0,100
L. F450
O.2700
0.F875
1 .0000

FRESERNT CONDITIONS

O.0100
O, O500
O,7800
O 8500
Q.8900




682200
ABE2IL 00

¥ Input data

Reach no. 4
Elev
ft
677000
&770.30
&771.00
772,00
677500
a&774 .00

X Input data

Reach no. 5

tatea

¥ Input

Feach no. &

£

f—

£y
i
EF1&E .00
A9 186450
&F17.
SF1E .00

&EGF1E, 00

-

¥ Input data

FReach no. 7
Flev

&840, 00
6841, 00

¥ Irmput date

Foeach no. 8
E ]. 2y

(E1,

(E1,

(E1,

(E1,

{ELl.

1338.0
2701.0

. A) for

a
cfs
Q.0

446 .0
130.0
4946 .0

1020.0
1728.0

[ )
[

i
cts
0,0

10,0

Q

126.0
2186.0

X-Sect 4

Frea
sft

0,0
8
L0

IR

Area
= ft

0.0

4.0
14.0
54,0
170 .0

PR

Area
sgft
G.O
ig.0
24,0
7R.0
122.0

05,0

Area



ft cfs sgft
EH81 .00 0.0 0.0

6&82.00 Z1=.0 T25.0

&6EB8ZE.00 719.0 78.0
6684.00 15310.0 131.0

¥ Input data (E1, O, A) for X-Sect 9

Reach no. 9
Elev (8] Area
ft cfs sqft
HAHATO .00 0.0 0.0
LLHZTD .50 F4.0 28.0
6631.00
&5631 .80
w00
2280 2048, 0 248.0

—r

HERE OO ZOE0.0

¥ Input data (Fl, O, &) for ¥-Ssct 11

Feach no.

¥ Input data (E1., O, &) for

Feach no. 17

S48, 5O
LHLEG, 0L
55450, 00
ES&L1 .00
A

OV R e en oo oon

TS T T

oo

¥ Input data (E1, G, A) for ¥-Sect 13

FReach nao.
i Area
cfs sqft
G0 0.0

HinL O 4.0




HLOZ .00 105.0 10.0
G&LOE G0 231.0 ig.0
G604 .00 418600 28.0
LH0DH .00 &HH8 .0 40,0

¥ Basin E1

Calculate the hydrograph for baszin no. 0 to unit 1
area= .2 sg. miles to= JZB hours cn= &9
total volume= 7.1Z22774 acre-ft

peak flow = 9 81&0& cfs

¥ Foute Bl thru

Route the hvdrograph in wmit 1 through reach 1 to unit

acre—T1t
cfs

total wvolumes

perak T 1ow =

k]

Fvdrograph for basin no. O to wunat 1
501, miles to= 132 hours [od -~

* Total below BE

Add the bydrographs in o onits 1 and 200 to ounit

Vo lumes 1.E147E acre—T1h

F1low =

¥ FRoute to conflusncs in G2

1 to umit

Rovte the hydrograph in unit 3 throwah re

total wvolumes 10.31477 acre—ft
peak flow =

Er
py
3]
H
3
I
Xy
I
j—

2im o, O to umit 1

oo PDurs cn= &9.0

Caloulate the hydrograph fTor
Al

Aareas 2 s0. miles

total volumes
1o =

g



¥ Frimt hydrograph for basin AGIL

¥ FRoute to confluence in G2

~

Foute the hydrograph in wunit 1 through reach 1 to unit 2
total volume= 7.7517 acre-ft

peak flow = 107.4848 cfs

¥ Combine at confluence in G2

fAdd the hydrographs in unites 2 and 4 to unit 1

violume= 17.&&48&08 acre—-Tt
flow = 20,007 ofs

~

Route the hvdrograph in unit 1 through reach 1 to unit 2

Calouiate the hvdrograph for basin no. O to unit 1
< z0. miles to= 27 hours on= &9

volumes= 7,154 acre—ft

peak flow = 101.4680348 ofs

below G2

fAdd the hydrographs in undits 1 and 2 to wunit 3

total volume= 24,.79287 acre—ft
peak flow = 24%.67%8 ofs

¥ Basin E

Lalculate the hyvdrograph for ba=in no. O to wunit 1

area= .2 5. miles to= 35 hours cn= 70

—y

total volumes= 7.802717 acre—f+t

peal flow = FPR.Q057F cf=

¥ Route thru F



Route the hydrograph in unit 1 throuagh reach 7 to unit

total volume= 7.,.&02715 acre-ft
pealk flow = 4,508 cfs

¥ Basin F

Calculate the hydrograph for basin mo. O to unit 1
area= .11 =g. miles to= .33 hours crni= 6%

total volumes . Y
peak flow = 45,9781 cfs

X Total below F

L

Fdd the hydrogesphs in units 1 and T to wunit 4

a2l volume:s
Tlow =

¥ Total D.F. #1

Adod the hydrooraphs in ounad arnd 4 to unit 1

¥ Rowbts to below Ji1

Route the hyvdrograph in unit 1 through reach 2 to unit

acre—~ft
of=

total volumes= 3403147

peak T1ow = R&EGL1EEE

* Basmin J

Calculate the hydrograph for basin no. O to unit 1

S ——

area= .25 =g. miles to= (33 hours cn= &9

total volume= 8.9104&85%

pealk flow = 113,580%

¥ Combine to below J

fAdd the hydrographs in units 1 and 2 to unit

total volume= 45,377454 acre—ft

senab T 1ow = 425,.4094 ofs
f

b
al

%
2l



no. O to umit 1
.14 hours cn= 70

Calculate the hydrograph for
area= .15 sg. miles tc

total volume= 5.4684264 acre—-Tt
peak flow = 10Z3,1705% cfs

¥ Route to below J

Route the hydrogreph in wunit 1 through reach 2 to unit 2

total volums= 3,.484242 acre-ft
1q

peak fTlow = 30,00 ofs

¥ Combine I to total beslow J

fdd the bvdrographs in units 20 and 3 to wunit 4

T

al volumes= F0.F1097 acre—-1t

r

e

F 1o = 450,

Bazines K

ko

1. O teo unit 1
o creE Y .6

Caloulate the hvdrograsph for

area= L

total volumess= [ F5E&A&1

peat T 1low ==

* Foute to DF 2

Route the hyvdrograph in unit 1 through resch 2 to unit =

total volumes (23854517% acre—ft

pealk flow = 21.74630 ofs

¥ Total at DF 2

to umit &

ﬁ
-
a
-
o
fmt
r1-.
"
]
3
o
I

Add the hvdrographs

total volumes
peak Tlow =

¥ FRoute to DF 3

Foute the hydrograph in unit 2 through reach 4 to wunit 1



total volume=

peak

flow

450.7376 cfs

51.84696 acre-

ft

¥ ERasin N2

Calculate the hydrograph for basin no.

areas=s
total

peak

¥ Combine

Add the hydrographs

total

peEalk

i

By
st

i M

i

[ S 3e]

Caloulate

area=

Comib e

Add the hy

tiatal

prera e

06 sg. miles
volume=
flow

-r

N2 tao DF

volume=
Tlow

= 45,

1

the
.11

by

=] .

coraph
miles

WL L e
1

)

drographs in w

volum
T1ow

in units

D4 . 00345

oy ey
A

for

mite

'y

to

tc= .18 hours

Z.173868 acre—ft
IIL.70208 cfs

~
i

1 and to un
acre—Tft

cis

bazin
to=

Mos

PRty

1 and

LI a,

Morth

Branch

¥ Foute

total DF X

Fouwte the

total
peak
Basin R
Calculate
aFea=
total

wlE- AN

*

Total MNMorth

ir

hiydrograph

vo lume=
T1ow

the hydroqraph

L8 sg. miles
T
41 .81

v lume:s
1o =

Branoch DF

s e
/

it

far

478

/

= reach

through

O ot

hasin
i

MNo.

— T

- x ol

TOLHTS

acre—T14
ctsa

unit 2

cn=

it

3 to

uriit

=
<

&9

unit

1



Add the hydrographs in units 1

total volume=
peak flow

¥ Bagin Ci1

Calculate the hydrograph for basin no. O
to= 27

area= .19 =q.

6'-‘:)-7-/7(:);’6_—‘, ac r—ve_.ft
449 .7285 cfs

miles

total volume= &.770448
peak flow = Q&.323547Z
¥ FRoute to DF 5
Foute the hvdrograph in unit
total volumes &, 770444
1oy &= o
¥ Cz

Caloulate brvcheo

t by
= G0 .

. 1

i

pezak 1o =
¥ Combine Tl & CF
Add the hvdrographs

total
preeak

vl umes
T1low =

¥ FEasin D

o

g a

1l

units

ir

1038987
iy

Ao

acre—ft
cfe

1 throuoh

1 and

acre—T1L
cfs=

Calculate the hvdrograph for basi

area= .17 =g,

total volumes=

peak flow =
¥ Total at DF 5

fAdd the hydrographs

total volume=

miles
&H.OR7781
Bo . ELE07

in

1£.28744

il bt

to= 32
acre—ft
cfs

1 arc

acre—~Tt

and 2

M. 0

to

Pone

~
.

reach 7

to

unit 7

to unmit 1
hours

cn=

unit 1

op=

to umit 3

iy
hours

to

to

unit 1
cn=

unit 2

&

to unit

&

&9

~
e



peak flow = 195.43011 cfs

¥ FRoute to DF &/

Route the hydrograph in unit 2 through reach 7 to unit 3
total volume= 14&.387653 acre-ft
peak fTlow = 182.414% cfs

¥ Basin H

Calculate the bydrograph for basin no. O to umit 1
area= .1 sg. miles te= .2& hours cn= &9

I

total volumes= Z.53%33E acre-Tt
peak flow = F0.910148 ofs

¥ Route H to DF &8

Foute the hvdrograph in wnit 1 throuwgh resch & to wunit 2

o ] L e

Tlow ==

£

¥ Comiine DF 5 & H DF &4

fAdd the hydrographs in unilts 20 and 20 to umat 1

total volumes=

peak Tlow =

%
fea)
]
n
Tt
3
.
—

Calculate the hydrograph for basin no. O to unit 2
area= .1 sg. miles tec= .19 hours cn= &9

117 aore—1t

F1E ofs

al wvolume= Z,.5HE
peak flow = A4 ,27

¥ Total at DF &4

fAdd the hydrographs in unite 1 and 2 to unit 2

total volume= 2350509 acre—Tt
pEak flow = Z2H1.8778 ofs

¥ Route to DF &



Route the hydrograph in unit 3 through reach 7 to umit 2

total volume= 2Z.505%1 acre—-ft
peak flow = ZI34.60146 cofs

¥ BRasin 02

Calculate the hydrograph for basin no. © to unit 1

Bl

area= .17 sg. miles tc= .22 hours
total volume= &,.05%1535% acre-ft
peak flow = 88.80487 cfs

£ Total at DF &

Add the hydrographs in units 1 and 7 to unit

sl e

T1ow =

¥ Foute o DF 7

FRoute the hvdrograph in wunit = through reach &

total wolumes it anre-Tft
peak TIlow :

e

Bazin 5

Caloulate the hydrooraph for basin no. O to unit 1
e

area= .1 =g. miles to= 18 hours

total volumes

pealk f1ow =

¥ Total at DF 7 -~ South Eranch

Add the hydrographs in units 1 amd 2 to unit

-

total volume= I3,11708 acre-ft
pealk flow = 249 7047 ofs

¥ Total at DF 7
Add the hydrographs in units T and 7 to unit

total volumes P3,.88403% acre—ft
peak Tlow = 714,844 ofs

cn=

to

&

&9

uriit

&7

al



¥ Route to DF 84

Route the hydrograph in unit & through reach % to unit 7
total volume= 93.88402 acre-ft
peak flow = 714.8&483 cfs

¥ Basin T2

Calculate the hydrograph for basin no. O to unit i
area= .02 sg. miles te= .08 hours cn= &9

total volume= .&B880&05 acre—-ft

peat Tlow = 14.9515% cfs

¥ Easin T2
Caloulate the hyvdrograph for basin no. O to unit &

area= .07 sg. miles to= .14 hours cn= &%

total volume= 2.4H actre—t1t

peak flow = 44,4

X Combine T2 & T3

~

Add the hyvdrographs in units 1 and 2 to unit

ool Lt

T 1o

¥ Total at DF 84

fidd the hyvdrographs in units 3 and 7 to umit &

volume= 97,0891 aocre-ft
Tlow = 719.3&684 ofs

* Rowte +to DF 8

Route the hydrograph in unit & through reach 9 to umit 7

acre—Tft
cfe

total volume=
peak flow =

X Bazin T1

Calculate the hydrograph for basin no. O to unit 1

arga= 048 =g. miles to= 17 hours cn= &9



total veolume= 2.13431 acre—ft
peak flow = F4.83454 cfs

¥ Toptal at DF &

Add the hvdreoaraphs in units 1 and 7 to unit &
total volume= 9%.1%9374 acre—-ft
peak flow = 721.8555% cfs

¥ FRoute DF B to DF 13

Route the hydrograph in unit & through reach 13 to unit 7

total volume= 99.192374 acre-ft
‘.-"’T'j

peak flow = FE1,.8555 ofs

* Basin L1

Caloulate the hvdrograph for baszin no. O to unit 1

area= .U0& sg. miles to= 1% hours on= 70
total volumes 2.3
peak Tlow = '

Caloculate the hvdroograph

3= O sg. miles

A

total volumes &BEOLOD
peak flow = 14,7415 ofs

¥ Totel at DF G

Add the hydroographs in wunite 1 and & to wnit =
total volume= Z.9600%9% acre—ftth
peak flow = G7.505014 cfs

¥ FRoute to DF 10

Foute the hydrograph in unit 2 through reach 11 to unit 1

total volume= Z.9500%F acre-ft
peak flow = BA.941105 ofs

£

Bazin M1



Calculate the hydrograph for besin no.
L1

area= .05 sg. miles to=

total volume= 1.775372 acre—ft

peak flow = ZZ.9456 cfs

EBasin M2

Calculate the hydrograph for basin no. O

A
« ol

area= .13 miles to=

S0 .

total
peal:

4.62560 acre—-ft
68.10144 cfs

volume:s=
flow

Add the hydrographs in units 2 and

total
peak

6.40G102
&L EFOEY

acre—ft
cfs

v lumes
T1low =

¥ Total DF 10

adod the hvdrographs arcl

total volumes acre-ftt
peak T1ow = cf=

too DF 11A

Route the hvdrograph in unit 2

total volume= 9.341114 acre-Tt
peak flow = 1E7.6595% ofs

Calculate the hvdrograph for basin ro.

area= .IZ7 eg. miles to= (23
total volume= 9.411254 acre-ft
peak flow = 141.1255 cfs

¥ Total DF 11a4

fdd the hydrographs in units 1 and

total
peak

12.972237 acre—ft
= cfs

Ly T
o e LR

virlumess

T1ow = D&

¥ Foute DF 1168 to DR 11

4

through

~
s

0 to
hours

i

t

cn

~
w

to unit =

hours cnhn=
to unit 4
to umit 2

reach 11 to

O to unit 2

hours o=

to un

it

69

&9

urit 1

&7



Route ths hydrograph in unit

throuagh

tot2l volume
peak flow

= 18.97238 acre-—-ft
26071869 cfe

¥ PRasin (41

Calculate the hvydr

oaraph
area= .03 sq.

miles

for basin no.
te= W11
total
peak

volume= 1.0&62734 acre—Tt
flow

20.84491 cfs

¥ Total DF 11

Aodol the hvdrograph
total

e e b

T1low

Tot

e

1 o

aloulate the hvdroograph for basin no.o O
r o OHE

s0. miles to=

21

total
pealk

wiolume= 2, 84450054

acre—Tt
41.750054

1o ¢

%

Route to DF 12

Route the tydrograph in unit 1

through

total volume= 2.84&057% acre—-ft
peak Tlow =

41.7249%
FLoe 2 oal o

cfe

¥ Basin F1

Calculate the

hvdrograph
area=

far ba
0. miles o

in no.
L

(W]
. OZ

to
hours

oz
]

total volume

e L, ORZ0F1 acre—Tft
peal flow =

2E.44228 ofs

¥

4oy

Total DF 12

O

reach

reach

to

hours

toouni
hours

11

[

11 to umit 1

unit 2

cn= &9

t

toy umit 2

g



Add the hydrographs in units 1 and 2 to unit 4
total volume= Z.878147 acre—-ft
pealk flow = 45,74731 cfe

¥ FRoute DF 12 to DF 11

Route the hydrogreph in unit 4 through reach 13 to unit

total volume= 2.878144 acre-ft

CETXEL €T

peak flow = 45,27582 ofs

¥ Total below DF 11

Add the hvdrographs in units 1 and 2 to unit 2

total volumes
pesk flow

i

¥ Foute to DF L3

Foute the hydrograph in wunit 2 through resch 1723 to unit

total volumes

T 1w =

Caloculate the byvdrograph for basin no. O to umit 2
area= ,1 2g. miles to= 27 hours cn= 74
total volumes acre—ft
pealk flow = cte

¥ Total DF 13

ik the hydrographs in units 1 and 2 to unit 3

total volume= ZBR.74107 acre—ft

pealk flow = E2E.3%7 cfes

Add the hydrographs in units 3 and 7 to unit 1

total volume= 1Z27.%9348 acre-1t

peak flow = FTF2.0808 ofs

¥ Foute to DF 14

Fouwte the hydrograph in unit 1 through reach 12 to unit

1

1

-
a2l



total volume= 127.9348 acre—ft
peak flow = 768.Z253461 cfs

¥ ERasin V

Calculate the hydrograph for basin no. © to unit 1
area= .19 sqg. miles te= .IZ% hours cn= &9

total volume= &4.775018 acre—-ft
peak flow = B2.465997 cfs

¥ Total DF 14 (Rasin Total)

Add the hvdrographs in units 1 and 2 to unmit

total volume= 134.70%9 acre—f+
peal flow = F778.1174 ofs

End of computation 10:22:44






08-07-1987 17:28:02

Input file name: a:bé6iBZhist.dat

MONUMENT EBRANCH MASTER DRAINAGE STUDY - FRESENT CORNDITIONS

jO-Year Z-Hour Storm Froject No 46382

Time increment .02 hrs

Storm pattern no. 2

time increment= .0833F hrs

QL. 0000 Q.0087 0.0346 0.0744 0.1436
0.2647 0.4810 0.6021 0.6713 0.724%9
0.7682 G.B8028 0.8274 0.8720 Q.889%
Q.2068 0.P170 Q.9273 Q.9377 0.9481
0.93805 0.9689 0.9792 0.9896 1.0000

Total rain depth Z inches

¥ Input data (El., @, A) for X-Sect 1
Reach no. 1
Elewv ] Area
ft cfs sgft
&GO0, D0 (WS 0.0
&EF01 .00 171.0 27.0
EFOZ .00 871.0 600
SF05 .00 1182.0 9.0
¥ Imput data (El. @, A) for X-Sect Z
Feach no. 2
Elev Ct Area
ft cfe sqft
&885. 00 G.0 G.
&B86. 00 10,0 2.0
&E87 .00 24,0 4.0
68838 . 00 &7 .0 12.0
6889 . 00 255.0 TE2.0
&RBP0, 00 66540 64.0
¥ Input data (El. @, A) for X-Sect 3
Reach no. =
Elev & Area
ft cfs sqft
ERIG.00 Q.0 0.0
B2 .00 411.0 &4.0
&EBEE 00 1Z238.0 1Z26.0

¥ Input

L8200

data

(E1,

2701.0

&, A)

216.0

for X—Sect 4



Reach no. 4

Elev o Area
ft cfs sgft
6E770.00 0.0 0.0
&770.50 446.0 12.0
6771.00 150.0 25.0
&772.00 4946.0 54,0
&7735.00 1020.0 8?.0
6774 .00 1728.0 128.0

¥ Input data (El, @, A) for X-Sect 5

Reach no. S

Elev a Area
ft cfs sqft
&678.00 Q.0 0.0
LE&7F .00 408.0 EZ.0
L6800 .00 1316.0 132.0
L6881 .00 ZHT0.L0 20600

¥ Input data (El, O, A) for X-Sect &

Reach no. 6

Elev G Area
ft cfs sgft
&F16.00 0.0 . Q)
6£P16.50 10.0 4.0
6717 .00 &1.0 14.0
£9128.00 26600 54.0
&6&919.00 108200 120.0

¥ Input data (El, O, A) for X-Sect 7

Reach no. 7

Elev @ Area
ft cfs sqft
686 .00 Q.0 0.0
6837 .00 71.0 18.0
6838.00 217 .0 4.0
6839 .00 624.0 73.0
6840.00 Z25.0 2.0
6841 .00 2EIBEZ.LO 205.0

¥ Input data (El, @, A) for X-Sect B

Reach no. 8

Elev Q Area
ft cfs sqft
6681 .00 0.0 Q.0
b6682.00 213.0 I5.0
6683.00 719.0 78.0

6684 .00 1510.0 1%31.0



¥ Input

Reach no.

¥ Input

Reach no.

¥ Input

Reach no.

data (El1, Q, AR) for X-Sect 9

9?

Elev Q Area
ft cfs sqft
b6E0 .00 Q.0 Q.0
6670.50 ?4.0 28.0
&631.00 JT2.0 67.0
6631, 30 723.0 116.0
663200 128%9.0 177.60
bOHE2 .50 2048.0 248.0
667500 S020.0 I30.0

data (El, @, A) for X-Eect 11

11
Elev (] Area
ft cfes sgft
6651 .00 0,0 G.0
&EFE .00 15.0 4.0
66T, 00 g5.0 12.0
&6F94 ., 00 232.0 26.0
&&595, O TO&8.0Q &g .«

data (El1, G, A} for X-Sect 12

12
Elev G Area
ft cfe sgft
&8558, O O, 0 3.0
6&558. 20 10,0 DL 0
&559 ., 00 7.0 8.0
ES40 .00 165.0 24.0
E£561.00 419.0 48.0
E862.00 828.0 20,0
ESET. 00 1184.0 124.0
&564,00 1809.0 217.0
6545.00 Z2420.,0 Z11.0
60EE,.00 I74B8.0 412.0
BHET .00 S5671.0 515.0

¥ Input

Reach no.

data (El1, Q, A) for X-Sect 1%

1=
Elev @ Area
ft cfs sqgft
EEDD 00 Ci, QO 0.0
&601 .00 OO0 4.0
6602 .00 165,00 10.0
b60E .00 2721.0 18.0
6604, Q0 416.0 Z28.0

LEOS. 00 668.0 4.0



¥ Basin E1

Calculate the hydrograph for basin no. ¢ to unit 1
area= .2 sg. miles tc= .28 hours cn= 69

total volume= 2.3058B2 acre-ft

peak flow = ZB.20039 cfs

¥ Route El thru EZ2

Route the hydrograph in unit 1 through reach 1 to unit 2

total volume= 2.7205%82 acre-ft
reak flow = 28.12427 cfs

¥ Rasin B2

Calculate the

hydrograph for
area= .09

basin no. O
=3. Mmiles

to unit 1
te= .12

hours cn= &9
total volume=s 1.037&79
pealk flow

actre-Ttt

¥ Total below E2

Add the hydrographs in unite 1 and 2 to unit

total volume=
peal T1ow =

Z.347499 acre~ft
41.0&%24 cfs

¥ PRoute to confluence in G2

-

Route the hydrograph in unit 2 through reach 1 to

unit 4
total volume= Z.343499 acre-ft
peak flow = 41,0472 cfs
¥ Rasin A & G1
Calculate the hydrograph for basin no. ¢ to unit 1
area= .2 sq. miles tc= .22 hours cn= &9.92

total volume=

2.4503568 acre—-ft
peak flow =

31.25784 cfs

¥ Frint hydrograph for basin AGL

¥ FRoute to confluesnce in G2



L]

Route the hydrograph in unit 1 through reach 1 to unit 2
total volume= 2.4703%61 acre-ft

peak flow = 31.1924%9 cfs

¥ Combine at confluence in G2

~y

Add the hydrographs in units 2 and 4 to unit 1

total volume= H.7738B59 acre-ft
peak flow = 70.48017 cfs

¥ Route thru G2

-

Route the hydrograph in unit 1 through reach 1 to unit 2

total volume= 5.77385% acre-—ft
peak flow = 70,3977 cfs

¥ EBasin G2

Calculate the hvdrogreph for basin no. O te unit 1
area= .Z s£g. miles tc= .27 hours cn= &9

s

total volumes= 2.20084 acre—Tt
peak flow = F8.40854 cfs

¥ Total below GZ

-

Add the bhydrographs in units 1 and 2 to unit 3
total volume= 8.07972 acre—ft
peak flow = Q7.46B%957 cfs

¥ Basin E

Calculate the hydregraph for basin ne. © to unit 1
area= .2 sq. miles tc= .23 hours cn= 70
total volume= 2.55B25% acre—ft

peak flow = 20,7471%9 cfs

¥ FRoute thru F

~

Foute the hydrograph in unit 1 through reach & to unit 2

total volume= 2,38582537 acre-ft
peak flow = 20.709 cfs



X Basin F

Calculate the hydroagraph for basin no. 0 to unit 1
area= .11 sq. miles tc= .23 hours cn= 69
total volume= 1.268226 acre—-ft
peak flow = 15.205863% cfs

¥ Total below F

Add the hydrographs in units 1 and 2 to unit 4
total volume=s Z.82647%9 acre—-ft
peak flow = 45.89385 cfs

¥ Total D.F. #1

Add the hydrographs in units 3 and 4 to unit 1
total volume= 11.%20&2 acre—ft

peak flow = 14%.%11 cfs=

¥ FRoute to below J1

-

FRoute the hvdrograph in umit 1 through reach 7 to unit 2

total volume= 11.904619 acre—ft

peak flow = 14Z.3671 cfs

¥ PBasin J

Calculate the hydroaraph for basin no. O to unit 1
area= .25 sq. miles tc= .33 hours cn= &9

total volume= Z.BBZ2ZZ1 acre-ft
peak flow = 34,35824 cfs

¥ Combine to below J

Add the hydrographs in units 1 and 2 to unit =
total veolume= 14.7885% acre—-ft
peak flow = 176.387% cfs

¥ Rasin I

Calculate the hydrograph for basin no. O to unit 1



~

Calculate the hydrograph for basin no. 0 to unit 2
area= .06 sgq. miles tc= .18 hours cn= 69

total volume= .&917562 acre—-ft

peak flow = 9.071014 cfs

¥ Combine N2 to DF =

-

Add the hydrographs in units 1 and 2 to unit =
total volume= 17.74218 acre-ft
peak flow = 207.9357 cfs

X RBasin N1

Calculate the hvdroaoraph for basin no. O to unit 1
area= .11 sg. miles tc= .27 hours cn= &9
total volume= 1,26B223 acre-ft
peak flow = 15.462471 cfs

¥ Combine N1 to DF =

Add the hydrogrephs in uwnits 1 and 3 to wnit 2
total volume= 1%2.01041 acre—ft
peak flow = 20,1101 cfs

¥ Route total DP 2% to DFP 7 - North Branch

Route the hydrograph in unit Z through reach S to unit 1
total volume= 1%.,01041 acre—-ft

peal: flow = Z217.2601 cfs

X PEasin R

Calculate the hydrogreph for basin no. O to unit 2

area= .08 sq. miles te= .23 hours cn= 69
total volume= .9227157 acre—-ft
peak flow = 11.68%%5 cfs

¥ Total North Branch DF 7

Add the hydrographse in units 1 and 2 to unit 7

total volume= 19.93272 acre-Tft



peak flow = T24.8651 cfs

¥ PRasin C1

Calculate the hydrograph for basin no. ¢ to unit 1
area= .19 sq. miles tc= .27 hours cn= 69
total volume= 2.190568 acre—-ft

peak flow = 26.98817% cfs

¥ FRoute to DF 5

Route the hydrograph in unit 1 through reach 7 to unit 2
total volume= 2.190568 acre—ft
peak flow = 24.84919 cfs

¥ Basin C2

Calculate the hydrograph for basin no. O to unit 1

area= .1 sg. miles tec= .Z2 hours cn= 69
total volume= 1.158285837% acre—-Tt

peak flow = 13.874Z1 cfs

¥ Combirne C1 & CZ at DF B

”~

Add the hydrographs in unite 1 and 2 to unit =
total volume= Z.347421 acre—-ft
peak flow = 40.7274 cfs

¥ Rasin D

Calculete the hydroaraph for basin no. 0 to unit 1
area= .17 =qg. miles tc= .27 hours cn= 6%
total volume= 1.959982 acre-ft

peak flow = 24.14728 cfs

¥ Total at DF 5

- ~

Add the hydrographs in unite 1 and & to unit 2

total volume= S5.203404 acre-ft
peak flow = 64,.54132 cfs

¥ Route to DF 6A



Route the hydreograph in unit 2 through reach 7 to unit 3
total volume= 5.303401 acre-ft
peak flow = 64.33209 cfs

¥ Fasin H

Calculate the hydreograph for basin no. O to unit 1
area= .1 sqg. miles tc= .26 hours cn= 69
total volume= 1.152954 acre-ft
peak flow = 14,305634 cfes

¥ FRoute H to DF &A

Route the hydrograph in unit 1 through reach é to unit 2
total volume= 1.152954 acre—ft
peak flow = 14.20207 cfs

¥ Combine DF &% & H DF &A

Add the hydrographs in units  and 3 to unit 1
total volume= 6£.45&%5%& acre—-ft
peal: flow = 78.19585 cf=

¥ Rasin 01

Calculate the hydregraph for basin no. © to unit 2
area= .1 q. miles tc= .19 hours cn= 69
total volume= 1.1528B%8 acre—ft
realk flow = 15.027 cfs

¥ Total at DF &4

Add the hydrographs in units 1 and Z to unit =

total volume= 7.609257 acre—-ft

preak flow = G0.03132 cfs
¥ FRoute to DF &
Route the hydrograph in unit 3 through reach 7 to unit 2

total volume= 7.609257 acre-ft
peak flow = BR.27563% cfs



% EBEasin 02

Calculate the hydrograph for basin no. O to unit 1

-

area= .17 sq. miles tc= .23 hours cn= 69
total volume= 1.959521 acre—-ft
peak flow = 24,B284 cfs

% Total at DF &

)

Aadd the hydroagraphs in units 1 and 2 to unit 3
total volume=s 9.5&9171 acre-ft
peak flow = 101.75%4 cfs

* Foute to DF 7

Foute the hydrograpbh in unit I through reach 8 to unit 2
total volume= 9.5£72176 acre—ft
pealk flow = 101.4097% cfs

¥ Basin &

Calculate the hydroaraph for basin no. © to unit i
area= .1 sqg. miles tc= .18 hours cn= &9
total volume= 1.1382927 acre—ft

peak flow = 15.1183¢6 cfs

¥ Total at DF 7 - South Eranch

-

add the hydrographs in units 1 and 2 to unit =
total volume= 10.7221 acre—ft
peal flow = 106.7377 cfs

¥ Total at DF 7

add the hydroaraphs in units * and 7 to unit &
total volume= 30.6D48% acre—ft
peak flow = I27.8B216 cfs

¥ Foute to DF 8A

Route the hydrograph in unit & through reach 9 to unit 7




total volume= 3J0.654B7 acre-ft
peak flow = I27.413 cfs

¥ PRasin T2
Calculate the hydrograph for basin no. O to unit 1

area= .02 sq. miles tc= .08 hours cn= &9

total volume= .230%67 acre-ft
- e

peak flow = 3.230854 cfs

¥ EBasin T3

A}

Calculate the hydrograph for basin no. O to unit 2
area= .07 sg. miles tc= .14 hours cn= 69

total veolume= ..BOLRI42 acre—-ft
peak flow = 10.8B4B93 cfs

¥ Combine T2 & T3

Add the hydrographs in units 1 and 2 to unit =
total volume= 1.037397 acre—-ft
peak flow = 14,0290% cfs

¥ Total at DF BA

Add the hydroqgraphs in units 2 and 7 to unit 6
total volume= 31.69222 acre—-ft
peak flow = SXZ2.0933 cfs

¥ FRoute to DF B

Route the bhydregraph in unit & through reach 9 to unit 7
total volume= T1.6922% acre-ft
peak flow = 731.6975 cfs

¥ EBasin T1

Calculate the hydroaraph for basin no. ¢ to unit 1
area= ,06 sq. miles tc= .17 hours cn= 69
total volume= .&%917385 acre-ft

peak flow = @.,17392708 cfs

¥ Total at DF B



Add the hydreographs in units 1 and 7 to unit 6

-

total volume= 3I2.383%5 acre-ft
pealk flow = 334.8507 cfs

¥ Route DF 8 to DF 13

FRoute the hydrograph in unit & through reach 132 to
total volume= 3I2.38397 acre-ft
peak flow = 334.8496 cfs

¥ Basin L1

Calculate the hydrograph for basin no. O to unit 1
area= .06 sq. miles tc= .13 hours ocn=
total volume= 767406 acre—Tft
peak flow = 10.673547 cfs

¥ FRasin LZ

Calculate the hydrograph for basin no. © to unit 2
area= .02 sg. miles tc= .08 hours =

N
3

e

total volumes= (ZEIN5LT acre—ft
pealk flow = Z.2E0854 cfs

¥ Total at DF 9

Add the hydrographs in units 1 and & to unit s
total volume= .998146%91 acre-ft
peak flow = 13,7939 cfs

¥ FRoute to DF 10

Route the hydrograph in unit 3 through reach 11 to
total volume= .9981689 acre-ft
peak flow = 173.691%1 cfs

¥ PBRasin M1

Calculate the hydrograph for basin no. O to unit 2

area= .05 sg. miles tc= .13 hours cn=

total volume= 576592 acre—ft

unit 7>

70

69

unit 1

69



peak flow = 7.809487 cfs
¥ Basin Mz
Calculate the hydrograph for basin no. 0 to unit 3

area= .13 sq. miles te= .22 hours cn= &9

total volume= 1.49888% acre-ft
peak flow = 19.1229 cfs

~—

Add the hydrographbs in units 2 and 3 to unit 4

total volume= 2.075487% acre—-ft
peak flow = 26.62904 cfs

¥ Total DF 10

~

Add the hvdrographs in units 1 and 4 to unit 2
total volume=s Z,073452 acre-—ft
peak flow = 40,10684 cfs

¥ Route DF 10 to DFF 11A

Route the hydrograph in unit 2 through reach 11 to umit 1
total volume= Z.073401 acre—-ft
peak flow = 39.7%10% cfe

¥ BRasin Q2

Calculate the hydrograph for bazin no. ¢ to wunit 2
area= .27 sq. mile=s tc= W22 hours cn= &%
total volume= Z.112815 acre-ft
peak flow = Z9.4277% cfs

¥ Total DF 11A

Add the hydrographs in units 1 and 2 to unit 2
total volume= &.184446% acre—ft
peak flow = 77.49067 cfs

¥ Route DF 11A to DF 11

Route the hydrograph in unit 2 through reach 11 to unit 1

total volume= 6£.186468 acre—ft



peak flow = 77.4B541 cfs

¥ PRasin Q1

Calculate the hydrograph for basin no. O to unit 2
area= .03 sqg. miles te= .11 hours cn= &9
total volume= .3458733 acre-ft
peak flow = 4,722%916 cfs

¥ Total DF 11

Add the hydrographs in units 1 and 2 to unit =

o Sre, e

total volume= 4.532344 acre—ft
peak flow = E1.84&4 cfs

¥ Total DF 12A
¥ PBesin FZ

Calculate the hydreoaraph for basin no. O to unit 1
area= .08 =q. miles tc= .21 hours cn= &9
total volume= 92277547 acre—-Tt
peak flow = 11.8492 cfs

¥ FRoute to DF 12

Route the hydreoaraph in unit 1 through reach 11 to unit 2
total volume= .92233437 acre-ft
peal flow = 11.B175 cfs

¥ BHBasin F1

Calculate the hydrograph for basin no. O to unit 1
area= .03 sq. miles tc= .08 hours ch= 69
total volume= .74584446 acre—-ft
peak flow = 4.844£28B1 cfs

¥ Total DF 12

Add the hydrographs in units 1 and Z to unit 4

total volume= 268179 acre-ft
peak flow = 15.9635%1 cfs



¥ Route DF 12 to DF 11

Route the hydrograph in unit 4 through reach 13 to unit 1
total volume= 1,268178 acre-ft
peak flow = 15,926%95 cfs

¥ Total below DF 11

~

Add the hydrographs in unite 1 and 3 to unit 2
total volume= 7.800519 acre-ft
peak flow = 97.458B02 cfs

¥ FRoute teo DF 13

Route the hydrograph in unit 2 through reach 13 to unit 1
total volume= 7.BO0O32 acre—-ft

peak flow = B7.44715 cts

¥ PRacsin U

Calculate the hydrograph for basin no. O to unit 2
area= .1 =q. miles tc= .27 hours cn= 74
total volume= 1.8%9713F acre—ft
peak flow = 26.153726 cfs

¥ Total DF 1=

fAdd the hydrographs in unite 1 and 2 to unit =
total volume= 9.660232 acre—ft
pealk flow = 118.0489 cfs

Add the hydrographs in units T and 7 to unit 1
total volume= 42.0442 acre-ft

peak flow = 393.71%9é6 cfs

¥ FRoute to DF 14

~

Route the hydrograph in unit 1 throuagh reach 12 to unit 2

total volume= 42.0442 acre—-ft
peak flow = 293.43137 cfs



x BRasin V

Calculate the hydrograph for basin no. O to unit 1
area= .19 sg. miles tc= .39 hours cn=
total volume= 2.1%056 acre—-ft

peak flow = 26.13601 cfs

% Total DF 14 (Easin Total)

-

Add the hydrographs in unite 1 and 2 to unit 3

total volume= 44.23475 acre—-ft
peak flow = 405.%121 cfs

End of computation 1Z:31:07
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